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Instructions to the candidates:

1) All questions are compulsory.
2) Neat diagrams must be drawn wherever necessary.
3) Use of map-stencils is allowed.
4) Figures to the right indicate full marks.
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Q1) Write the answers of following questions in 20 words (any eight) [16]

a) What is a Footloose industry?

b) Write examples of impure raw materials.

c) In what year did the German economist Alfred Weber propose the  theory
of Industrial Location?

d) What is the trade between different parts of the same country called?

e) What is the transportation?

f) Write the names of any two companies providing mobile facilities in
India.

g) Name any two natural factors that affect tourism activity.

h) When and where the World Tourism Organization (WTO) was established?

i) Write a definition of cartography.

j) State any two advantages of Isoplath maps.

P.T.O.
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Q2) Write a short note in about 50 words each (Any three). [18]

a) Sugar Industry in Maharashtra.

b) Air Transport.

c) Growth of the Tourism Industry in India.

d) Advantages and disadvantages of bar graph.

Q3) Write the answer to the following questions in 100 words. (Any Two) [16]

a) Explain the growth and development of information and technology
industry in India.

b) Explain the advantage and disadvantage of water transport.

c) Explain the problems facing the tourism industry.

Q4) Write the answers to the following questions in 300 words. (Any one) [20]

a) Write a report on railway transport in India.

b) State the factors that affect trade.


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 (‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70

gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ Amho.
2) Amdí¶H$ VoWo gw~H$ AmH¥$Ë¶m H$mT>mì¶mV.
3) ZH$mem ñQ>opÝgb dmnaÊ¶mg nadmZJr Amho.
4) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.
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à.à.à.à.à.1) Imbrb àíZm§Mr àË¶oH$s 20 eãXmV CÎmao {bhm. (H$moUVohr AmR>) [16]

A) nX‘wº$ CÚmoJ åhUOo H$m¶?

~) AewÕ H$À¶m ‘mbmMr CXmhaUo {bhm.

H$) Aë’o«$S> do~a ¶m O‘©Z AW©emókmZo Am¡Úmo{JH$ ñWmZ {ZpíMVr {gÕm§V H$moUË¶m dfu ‘m§S>bm?

S>) EH$mM XoemÀ¶m doJdoJù¶m {d^mJmVrb hmoUmè¶m ì¶mnmambm H$m¶ åhUVmV?

B) dmhVyH$ åhUOo H$m¶?

’$) ^maVmV ‘mo~mB©b gw{dYm XoUmè¶m H$moUË¶mhr XmoZ H§$nÝ¶m§Mr Zmdo {bhm.

¶) n¶©Q>Z {H«$¶mda n[aUm‘ H$aUmao H$moUVohr XmoZ àmH¥${VH$ KQ>H$ gm§Jm.

a) dëS>© Qw>[aP‘ Am°J©Zm¶PoeZ (W.T.O.) Mr ñWmnZm H$Yr d H$moR>o Pmbr?

b) ZH$mem emñÌmMr ì¶m»¶m {bhm.

d) g‘‘wë¶ aofm ZH$memMo H$moUVohr XmoZ ’$m¶Xo gm§Jm.

à.à.à.à.à.2) Imbrb àíZm§Mr àË¶oH$s 50 eãXm§V {Q>nm {bhm (H$moUË¶mhr VrZ) [18]

A) ‘hmamï´>mVrb gmIa CÚmoJ.

~) hdmB© dmhVyH$.

H$) ^maVmVrb n¶©Q>Z CÚmoJmMr dmT>.

S>) ñV§̂ mboImMo ’$m¶Xo d VmoQ>o.
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à.à.à.à.à.3) Imbrb àíZm§Mr àË¶oH$s 100 eãXmV CÎmao {bhm. (H$moUVohr XmoZ) [16]

A) ^maVmVrb ‘m{hVr d V§ÌkmZ CÚmoJmMr dmT> d {dH$mg gm§Jm.

~) Ob dmhVyH$sMo ’$m¶Xo d VmoQ>o {deX H$am.

H$) n¶©Q>Z CÚmoJmg‘moarb g‘ñ¶m gm§Jm.

à.à.à.à.à.4) Imbrb àíZm§Mr àË¶oH$s 300 eãXmV CÎmao {bhm (H$moUVohr EH$) [20]

A) ^maVmVrb aoëdo dmhVwH$sMm d¥Îmm§V {bhm.

~) ì¶mnmamda n[aUm‘ H$aUmao KQ>H$ gm§Jm.




